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B.Sc. (Hons.) Biological Science, Semester : Fifth
Paper : First

Genetics

Time: 3 Hours Max. Marks: 70

Note: This paper is of seventy (70) marks divided into two (02) sections A, and B. Attempt the
questions contained in these sections according to the detailed instructions given therein.

siic : I ugauw Hae (70) s # ¥ o & (02) WS &, AT @ F Rwnfer ¥ y@® @os

# R og Reqe [kt & e & usel o g6 wor ¥

Section - A | @Us-&
(Long Answer Type Questions) /(fd-3wdlar uzar)

Note: Section 'A' contains five (05) long-answer-type questions of fifteen (15) marks each. Attempt any

e

three questions. g _ (3x15=45)
@z ‘P & g (05) & Iy wew Ru ¥ vdw wew & fow ums s frafRa ¥
gt dor et & Iwe dfoml

. e yoe & IuRader o gagd|

Explain different type of mutations.

. gIRNT greuioge d@l T IART W §¢ T e ksl

Write a note on Eukaryotic transposable elements giving examples.

. weT sieher ufddiorer T ¥2 = Awayd o kel

What is Human Genome Project? Write its important findings.

. 0T gaar Rere ¥ fide wicas Tar ¥? RAffer oider witos summor Tur 3uer

fe a2

What is Genome annotation in Bioinformatics? What are different genome annotation tools used?

diee i FdofegIs Rcae o frenfafer o avfer difsm|

Describe the mechanism of mitochondrial mutations in Yeast.
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Section - B /| @vs—=a
(Short Answer Type Questions) /(@g-3aer uzer)

Note: Section 'B' contains Seven (07) short-answer-type questions of five (05) marks each. Attempt any

e :

five (05) questions. (5x5=25)
@3 ‘@ F ag (07) oF 39T Uzer Ru o ¥, oo yoaT & fow uig 3w FufRy T
fegl ura uzelr & Iwe dforgl

6. OF e Rrgme For ¥? WP siguaer fBRaul

What is Bioinformatics? Write it’s the applications?

7. SRRTr A AT & fdw & fo = Rdvaw ¥2

What are the characteristic features between genome of a bacteria and Human?

8. qafdrd sarg & Iamw F w9 i A& vwT uT TGl e

Discuss bottleneck effect as an example of genetic drift?

9. () FeT F oro-ge Jufegar X- s ¥ aR @ gow oo gufs ¥ s ma-far

qeit A Tor 3 TS ¥, O B F weradr F F BFud oo gufw AX K T
3w womaer ¥2

(i) st | Raer (40 of) ol 3o ofy & Uy ST g oMy B fAu wIREERR ¥
39D UEd & & TR wWeT g gl T 47, XXY IRAersy o "@dT I 919 R ure
T | o I BenersfUe for Far 3?2 e WRe AT I Fad o T uw weer
() Red-green color blindness is X-linked in humans. If a male is red-green color blind, and both

parents have normal color vision, which of the male’s grandparents is most likely to be red-green color
blind?

(ii) Mrs. Smith (40 years old) and her husband have an amniocentesis for advanced maternal age. They
already have four healthy children. They receive results indicating a 47, XXY karyotype. What is the
phenotypic sex of the fetus? How many Barr bodies will be found in each somatic cell.

10.f5For dfoar & A0 F & F gorwRNee sgfr o suder dF BT wnar ¥

How recombinant frequency is used as a measure of linkage intensity.

1. gavlee & Iurer garse|
Mention the uses of Transposon.
12.(i) frafolRad & & PHo-er Feafdy o aaer a8 32 FRT gasy| b,
(2) 73 F BE P Tor (b) THT T F BT Pr or
()T Thar F WA Ir P (d) dsTaT F Pre o Tor
(i) TP HhT F3F N TP FIS AT B ST T DG s | P FATIN 2
(a) FIoT ATSH & T Fhar (b) TP " AT 8 T GPar
(c) 3NEr I3y & T T (d) =ft Serer ¥ ST ¥
(iii) SfisiersT I wefefa wear ¥ 1
(i) Which one of the following is not the case of epistasis? Give reason. 2
(a) Fur colour in mouse (b) Fruit colour in summer squash
(¢) Fruit shape in summer squash (d) Coat colour in Labrador
(i) The cross between a white mouse and a black mouse . Give reason. 2
(a) Can’t give a Black mouse (b) Can’t give a White mouse
(c) Can’t give a Agouti mouse (d) Can give all combinations
(iii) Genotype refers to e . )
X
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